

A PROBABILISTIC VERSION OF ROSENTHAL'S INEQUALITY

S. V. ASTASHKIN AND K. E. TIKHOMIROV

(Communicated by Marius Junge)

ABSTRACT. We prove some probabilistic relations between sums of independent random variables and the corresponding disjoint sums, which strengthen the well-known Rosenthal inequality and its generalizations. As a consequence we extend the inequalities proved earlier by Montgomery-Smith and Junge for rearrangement invariant spaces to the quasi-normed case.

1. INTRODUCTION AND PRELIMINARIES

Let $\{f_k\}_{k=1}^n$ ($n \in \mathbb{N}$) be a sequence of measurable functions on $[0, 1]$. By $F(t)$ we denote its disjoint sum, i.e., the function

$$(1) \quad F(t) := \sum_{k=1}^n f_k(t - k + 1) \chi_{(k-1, k]}(t)$$

defined on the semi-axis $(0, \infty)$. It is easy to see that

$$(2) \quad m\{t > 0 : |F(t)| > \tau\} = \sum_{k=1}^n m\{t \in [0, 1] : |f_k(t)| > \tau\} \quad (\tau > 0),$$

where m is the Lebesgue measure. Let $F^*(t)$ be the non-increasing left-continuous rearrangement of $F(t)$ and, as usual, χ_A be the characteristic function of a set A . In [1, Theorem 1], Johnson and Schechtman proved that for every quasi-normed rearrangement invariant (r.i.) space X on $[0, 1]$ and for the arbitrary sequence $\{f_k\}_{k=1}^n \subset X$ ($n \in \mathbb{N}$) of *non-negative* independent functions, the following inequality holds:

$$(3) \quad \|F^* \chi_{[0, 1]}\|_X + \sum_{k=1}^n F^*(k) \leq C_X \left\| \sum_{k=1}^n f_k \right\|_X.$$

In particular, in the classical case when $X = L_p$ ($1 \leq p < \infty$), inequality (3) is a part of the remarkable Rosenthal inequality, which first appeared in [2]. Note that the other part of Rosenthal's inequality, opposite to (3), holds only for r.i. spaces that are situated sufficiently far from the extreme r.i. space L_∞ (see [1], [3] and [4]). Furthermore, [2] contains a similar inequality for sequences of *symmetrically distributed* independent functions. See [1] and [5] for generalizations and refinements of that version of Rosenthal's inequality.

Received by the editors May 8, 2011 and, in revised form, December 28, 2011.

2010 *Mathematics Subject Classification.* Primary 46E30, 46B09, 46B45.

Key words and phrases. Independent random variables, Rosenthal's inequality, rearrangement invariant space, quasi-normed symmetric sequence space.

This research was partially supported by RFBR grant no. 10-01-00077.

©2013 American Mathematical Society
 Reverts to public domain 28 years from publication

Let us return to inequality (3). In order to prove it we need to show that

$$\|F^*\chi_{[0,1]}\|_X \leq A_X \left\| \sum_{k=1}^n f_k \right\|_X$$

and

$$(4) \quad \sum_{k=1}^n F^*(k) \leq B_X \left\| \sum_{k=1}^n f_k \right\|_X.$$

The first of these inequalities is an immediate consequence of the definition of an r.i. space and the following distribution inequality (see, for instance, [6, Proposition 2.1]):

$$\begin{aligned} \frac{1}{2} m\{t \in [0, 1] : F^*(t)\chi_{[0,1]}(t) > \tau\} &\leq m\{t \in [0, 1] : \max_{k=1,2,\dots,n} f_k(t) > \tau\} \\ &\leq m\{t \in [0, 1] : F^*(t)\chi_{[0,1]}(t) > \tau\} \quad (\tau > 0). \end{aligned}$$

On the other hand, the proof of (4) in [1] is based on using some properties of quasi-normed r.i. spaces, in particular, on applying the Nikisin factorization theorem [7].

In [8], Montgomery-Smith proved a more general inequality than (4):

$$(5) \quad \left\| \sum_{k=1}^n F^*(k)e_k \right\|_E \leq D_{X,E} \left\| \sum_{k=1}^n f_k e_k \right\|_E \left\| \chi_{[0,1]} \right\|_X$$

(see also [9]). Here, X is a function r.i. space on $[0, 1]$, E is a symmetric sequence space, $\{e_k\}_{k=1}^\infty$ is the standard basis in E and $\{f_k\}_{k=1}^n \subset X$ ($n \in \mathbb{N}$) is an arbitrary sequence of independent functions. A key point in the proof of inequality (5) in both [8] and [9] relies on the duality for E , and therefore the proof may not be extended to the quasi-normed case.

The main goal of this paper is to show that inequalities similar to (4) and (5) are *only of probabilistic nature* and are consequences of some lower distribution estimates (Theorem 1), which may be also of independent interest. Using these estimates, we prove a probabilistic version of Rosenthal's inequality (Theorem 2), and, as a consequence, we obtain (5) for arbitrary quasi-normed spaces E and X (Corollary 2). Note that there are many probabilistic papers containing various lower distribution estimates. Nevertheless, it should be mentioned that the results obtained here are very special since they rely on comparing sums of non-negative random variables with corresponding disjoint sums.

Let $x(t)$ be a Lebesgue-measurable function on $(0, \infty)$. Then $|x(t)|$ is *equimeasurable* with its non-increasing left-continuous *rearrangement*

$$x^*(t) = \inf\{\tau \geq 0 : m\{s \in [0, 1] : |x(s)| > \tau\} < t\} \quad (t > 0),$$

i.e., $m\{t > 0 : |x(t)| > \tau\} = m\{t > 0 : x^*(t) > \tau\}$, for every $\tau > 0$. A Banach space X of real-valued Lebesgue-measurable functions on the interval $[0, \alpha)$, where $0 < \alpha \leq \infty$, is called a *rearrangement invariant (r.i.)* if: (1) from the conditions $|y(t)| \leq |x(t)|$ a.e. and $x \in X$ it follows that $y \in X$ and $\|y\|_X \leq \|x\|_X$; (2) if $|x(t)|$ and $|y(t)|$ are equimeasurable on $[0, \alpha)$ and $x \in X$, then $y \in X$ and $\|y\|_X = \|x\|_X$. If the norm in X satisfies only the generalized triangle inequality $\|x + y\|_X \leq L(\|x\|_X + \|y\|_X)$, with some constant $L > 1$, then X is said to be the *quasi-normed* r.i. space. We can define normed and quasi-normed symmetric sequence spaces similarly. For general properties of function r.i. spaces and symmetric sequence spaces, we refer the reader to the books [10] and [11].

Throughout this paper, by $[a]$ we will denote the integer part of a real number a .

2. SOME LOWER DISTRIBUTION ESTIMATES

Here, we will consider arbitrarily distributed non-negative discrete random variables taking on the values from the same set.

For $n \in \mathbb{N}$ and any fixed vector $(x_1, x_2, \dots, x_n) \in \mathbb{R}^n$, $x_1 \geq x_2 \geq \dots \geq x_n \geq 0$, define the set $\mathcal{M}_n$ of all vectors $\xi = \{\xi_i\}_{i=1}^n$ consisting of independent random variables ξ_i , taking its values in the set $\{x_1, x_2, \dots, x_n\}$ and such that

$$(6) \quad \sum_{i=1}^n \mathbb{P}\{\xi_i = x_j\} = 1 \quad (j = 1, 2, \dots, n).$$

Thereby, if $\xi \in \mathcal{M}_n$ and

$$(7) \quad a_{i,j} = \mathbb{P}\{\xi_i = x_j\} \quad (i, j = 1, 2, \dots, n),$$

then $(a_{i,j})_{i,j=1}^n$ is a doubly stochastic matrix, i.e.,

$$0 \leq a_{i,j} \leq 1, \quad \sum_{i=1}^n a_{i,j} = 1 \quad (j = 1, 2, \dots, n), \quad \sum_{j=1}^n a_{i,j} = 1 \quad (i = 1, 2, \dots, n).$$

By $(\xi_i^\#(\omega))_{i=1}^n$ we denote the non-increasing rearrangement of the vector $(\xi_i(\omega))_{i=1}^n$ for every $\omega \in \Omega$.

Theorem 1. *There exist universal constants $h \in \mathbb{N}$ and $c_0 > 0$ such that for any $n \in \mathbb{N}$, $(x_1, x_2, \dots, x_n) \in \mathbb{R}^n$, and $\xi \in \mathcal{M}_n$ we have*

$$\mathbb{P}\left\{\omega \in \Omega : \xi_i^\#(\omega) \geq x_{hi-h+1}, i = 1, 2, \dots, [(n+h-1)/h]\right\} \geq c_0.$$

We begin by proving an auxiliary proposition, where the following notation shall be used. For an arbitrary vector $\xi = \{\xi_i\}_{i=1}^n \in \mathcal{M}_n$ and any $k, j \in \mathbb{N}$, we set

$$p_{\xi,k,j} := \mathbb{P}\{\xi_k < x_j\}, \quad P_{\xi,k,j} := \mathbb{P}\{\text{card}\{i : \xi_i < x_j\} = k\},$$

and

$$S_{\xi,k,j} := \sum_{l=k}^n 2^{l-k} P_{\xi,l,j}.$$

It is easy to see that

$$P_{\xi,l,j} = \sum_{1 \leq i_1 < i_2 < \dots < i_l \leq n} \left(\prod_{m=1}^l p_{\xi,i_m,j} \cdot \prod_{i \notin \{i_1, \dots, i_l\}} (1 - p_{\xi,i,j}) \right).$$

Therefore,

$$(8) \quad S_{\xi,k,j} = \sum_{l=k}^n \sum_{1 \leq i_1 < i_2 < \dots < i_l \leq n} r_{\xi,k,j}(i_1, \dots, i_l),$$

where

$$(9) \quad r_{\xi,k,j}(i_1, \dots, i_l) := 2^{l-k} \prod_{m=1}^l p_{\xi,i_m,j} \cdot \prod_{i \notin \{i_1, \dots, i_l\}} (1 - p_{\xi,i,j}).$$

Proposition 1. *For arbitrary $k, j = 1, 2, \dots, n$ we have*

$$\max_{\xi \in \mathcal{M}_n} S_{\xi, k, j} = S_{\chi, k, j},$$

where the vector $\chi = \{\chi_i\}_{i=1}^n \in \mathcal{M}_n$ consists of independent random variables χ_i satisfying $\mathbb{P}\{\chi_i = x_j\} = 1/n$ ($i, j = 1, 2, \dots, n$).

Proof. It is sufficient to prove that $S_{\xi, k, j}$ attains its maximum at a vector $\xi = \{\xi_i\}_{i=1}^n \in \mathcal{M}_n$ such that the corresponding probabilities $p_{\xi, i, j}$ do not depend on i . In fact, by (6), we deduce that $p_{\xi, i, j} = (n - j)/n$ ($i = 1, 2, \dots, n$), i.e., $\xi = \chi$.

Suppose that for some k and j , the quantity $S_{\xi, k, j}$ is maximal at a vector $\xi = \{\xi_i\}_{i=1}^n \in \mathcal{M}_n$ and there are $u, v = 1, \dots, n$ such that $p_{\xi, u, j} \neq p_{\xi, v, j}$. Let $(a_{i, j})_{i, j=1}^n$ be a doubly stochastic matrix which corresponds to ξ according to (7). Set $b_{i, j} = a_{i, j}$ if $i \notin \{u, v\}$ and $b_{u, j} = b_{v, j} = (a_{u, j} + a_{v, j})/2$. Clearly, $(b_{i, j})_{i, j=1}^n$ is a doubly stochastic matrix as well. Denote by $\eta = \{\eta_i\}_{i=1}^n$ the corresponding vector from $\mathcal{M}_n$. Obviously,

$$(10) \quad p_{\eta, i, j} = p_{\xi, i, j} \quad (i \neq \{u, v\}) \quad \text{and} \quad p_{\eta, u, j} = p_{\eta, v, j} = (p_{\xi, u, j} + p_{\xi, v, j})/2.$$

We now prove

$$(11) \quad S_{\eta, k, j} \geq S_{\xi, k, j}.$$

First of all, using (8), we get

$$\begin{aligned} S_{\xi, k, j} &= \left(\sum_{l=k}^{n-2} \sum_{\substack{1 \leq i_1 < i_2 < \dots < i_l \leq n \\ i_m \notin \{u, v\}, m=1, \dots, l}} (r_{\xi, k, j}(i_1, \dots, i_l) + r_{\xi, k, j}(i_1, \dots, i_l, u) \right. \\ &\quad \left. + r_{\xi, k, j}(i_1, \dots, i_l, v) + r_{\xi, k, j}(i_1, \dots, i_l, u, v)) \right) \\ &\quad + \sum_{\substack{1 \leq i_1 < i_2 < \dots < i_{k-1} \leq n \\ i_m \notin \{u, v\}, m=1, \dots, k-1}} (r_{\xi, k, j}(i_1, \dots, i_{k-1}, u) + r_{\xi, k, j}(i_1, \dots, i_{k-1}, v) \\ &\quad + r_{\xi, k, j}(i_1, \dots, i_{k-1}, u, v)) + \sum_{\substack{1 \leq i_1 < i_2 < \dots < i_{k-2} \leq n \\ i_m \notin \{u, v\}, m=1, \dots, k-2}} r_{\xi, k, j}(i_1, \dots, i_{k-2}, u, v). \end{aligned}$$

The analogous equality holds also for $S_{\eta, k, j}$. Therefore, to prove (11) it is enough to check that for any admissible l and for arbitrary $1 \leq i_1 < i_2 < \dots < i_l \leq n$ such that $i_m \notin \{u, v\}$ ($1 \leq m \leq l$), we have

$$(\alpha) \quad r_{\xi, k, j}(i_1, \dots, i_l) \leq r_{\eta, k, j}(i_1, \dots, i_l) \quad , \quad r_{\xi, k, j}(i_1, \dots, i_l, u, v) \leq r_{\eta, k, j}(i_1, \dots, i_l, u, v)$$

and

$$(\beta) \quad r_{\xi, k, j}(i_1, \dots, i_l, u) + r_{\xi, k, j}(i_1, \dots, i_l, v) + r_{\xi, k, j}(i_1, \dots, i_l, u, v) \\ \leq r_{\eta, k, j}(i_1, \dots, i_l, u) + r_{\eta, k, j}(i_1, \dots, i_l, v) + r_{\eta, k, j}(i_1, \dots, i_l, u, v).$$

By (9) and (10), $r_{\xi, k, j}$ and $r_{\eta, k, j}$ differ from each other only in factors corresponding to the indices u and v . Therefore, inequality (α) is an immediate consequence of the arithmetic mean–geometric mean inequality. Further, taking into account that

$$\begin{aligned} &p_{\xi, u, j}(1 - p_{\xi, v, j}) + p_{\xi, v, j}(1 - p_{\xi, u, j}) + 2p_{\xi, u, j}p_{\xi, v, j} \\ &= p_{\eta, u, j}(1 - p_{\eta, v, j}) + p_{\eta, v, j}(1 - p_{\eta, u, j}) + 2p_{\eta, u, j}p_{\eta, v, j}, \end{aligned}$$

we obtain inequality (β) . Thus, (11) is proved. Repeating this averaging procedure, we come to the desired result. $\square$

Proof of Theorem 1. Since for every $h \in \mathbb{N}$,

$$\begin{aligned} \mathbb{P} \left\{ \omega \in \Omega : \xi_i^\#(\omega) \geq x_{hi-h+1}, i = 1, 2, \dots, [(n+h-1)/h] \right\} \\ \geq 1 - \sum_{i=1}^{[(n+h-1)/h]} \mathbb{P} \left\{ \omega \in \Omega : \xi_i^\#(\omega) < x_{hi-h+1} \right\}, \end{aligned}$$

it is sufficient to prove that there exists a universal positive integer h such that the sum on the right hand side of the last inequality is less than $1/e + 1/2$.

First, from the definition of sums $S_{\xi,k,j}$ it follows that

$$\mathbb{P} \left\{ \omega \in \Omega : \xi_i^\#(\omega) < x_{hi-h+1} \right\} \leq S_{\xi,n-i+1,hi-h+1}.$$

Applying Proposition 1, we get

$$S_{\xi,n-i+1,hi-h+1} \leq \sum_{l=n-i+1}^n 2^{l-(n-i+1)} C_n^l \left(\frac{n-(hi-h+1)}{n} \right)^l \left(\frac{hi-h+1}{n} \right)^{n-l}$$

(C_n^l are binomial coefficients). Therefore, by Stirling's formula,

$$\begin{aligned} \mathbb{P} \left\{ \omega \in \Omega : \xi_i^\#(\omega) < x_{hi-h+1} \right\} \\ (12) \quad \leq K_1 \sum_{l=n-i+1}^n 2^{l-(n-i+1)} \left(\frac{n-(hi-h+1)}{l} \right)^l \left(\frac{hi-h+1}{n-l} \right)^{n-l}, \end{aligned}$$

where K_1 is a universal constant.

Denote

$$A_l := 2^{l-(n-i+1)} \left(\frac{n-(hi-h+1)}{l} \right)^l \left(\frac{hi-h+1}{n-l} \right)^{n-l} \quad (l = n-i+1, \dots, n).$$

At first, let $i > 1$. Then $hi-h+1 \leq (h+1)(i-1)$, and hence

$$\begin{aligned} A_{n-i+1} &= \left(\frac{n-(hi-h+1)}{n-i+1} \right)^{n-i+1} \left(\frac{hi-h+1}{i-1} \right)^{i-1} \\ (13) \quad &\leq \left(\frac{n-h(i-1)}{n-i+1} \right)^{n-i+1} \cdot (h+1)^{i-1} \leq ((h+1)e^{1-h})^{i-1}. \end{aligned}$$

Next, we estimate the ratio A_{l+1}/A_l for every $l = n-i+1, \dots, n$:

$$\begin{aligned} \frac{A_{l+1}}{A_l} &= 2 \cdot \frac{n-(hi-h+1)}{hi-h+1} \cdot \frac{l^l}{(l+1)^{l+1}} \cdot \frac{(n-l)^{n-l}}{(n-l-1)^{n-l-1}} \\ &\leq \frac{2n(n-l)}{(l+1)(hi-h+1)} \cdot \left(\frac{l}{l+1} \right)^l \cdot \left(\frac{n-l}{n-l-1} \right)^{n-l-1} \leq K_2 \frac{2n}{h(l+1)}, \end{aligned}$$

with a universal constant $K_2 > 0$ (in the case when $n = l+1$ we set $0^0 = 1$). Since $i \leq (n+h-1)/h$, we then have

$$l+1 \geq n-i+2 \geq n - \frac{n}{h} - 1 + \frac{1}{h} + 2 > \left(1 - \frac{1}{h}\right)n.$$

Combining this with the previous inequality, we infer that

$$(14) \quad \frac{A_{l+1}}{A_l} \leq \frac{2K_2}{h-1}.$$

Let h be an integer satisfying the conditions

$$(15) \quad h \geq 1 + 4K_2 \quad \text{and} \quad (h+1)e^{1-h} \leq 1/(5K_1).$$

Then, by (13) and (14), we have

$$\sum_{l=n-i+1}^n A_l \leq 2 \cdot ((h+1)e^{1-h})^{i-1},$$

and, therefore, from (12) it follows that

$$\begin{aligned} \sum_{i=2}^{[(n+h-1)/h]} \mathbb{P} \left\{ \omega \in \Omega : \xi_i^\#(\omega) < x_{hi-h+1} \right\} &\leq K_1 \sum_{i=2}^{[(n+h-1)/h]} \sum_{l=n-i+1}^n A_l \\ &\leq 2K_1 \sum_{i=1}^{\infty} ((h+1)e^{1-h})^i \leq \frac{1}{2}. \end{aligned}$$

Moreover, using the averaging procedure from the proof of Proposition 1, it is not hard to check that

$$\mathbb{P} \left\{ \omega \in \Omega : \xi_1^\#(\omega) < x_1 \right\} \leq \mathbb{P} \left\{ \omega \in \Omega : \chi_1^\#(\omega) < x_1 \right\} \leq \left(\frac{n-1}{n} \right)^n < \frac{1}{e}.$$

Thus, if h satisfies inequalities (15), then

$$\sum_{i=1}^{[(n+h-1)/h]} \mathbb{P} \left\{ \omega \in \Omega : \xi_i^\#(\omega) < x_{hi-h+1} \right\} \leq \frac{1}{2} + \frac{1}{e} < 1,$$

and the proof is completed. $\square$

Remark 1. From the above proof, it follows that c_0 can be an arbitrary constant larger than $1 - 1/e$ provided $h \in \mathbb{N}$ is chosen sufficiently large.

In order to state a combinatorial consequence of the last result we need more notation. Denote by $\mathcal{A}_n$ the set of all doubly stochastic matrices $A = (a_{i,j})_{i,j=1}^n$ of order n . For every $h \in \mathbb{N}$ define a function $\psi_h : \mathcal{A}_n \rightarrow \mathbb{R}$ as

$$\psi_h(A) := \sum_{E_1, E_2, \dots, E_n} \prod_{i \in E_1} a_{i,1} \prod_{i \in E_2} a_{i,2} \cdots \prod_{i \in E_n} a_{i,n},$$

where the summation is taken over all collections of subsets $E_1, E_2, \dots, E_n \subset \{1, 2, \dots, n\}$ such that $E_i \cap E_j = \emptyset$ ($i \neq j$), $\bigcup_{i=1}^n E_i = \{1, 2, \dots, n\}$ and

$$\sum_{i=1}^{hk-h+1} \text{card } E_i \geq k \quad (k = 1, 2, \dots, [(n+h-1)/h])$$

(some of the sets E_i may be empty).

Corollary 1. *There exist universal constants $h \in \mathbb{N}$ and $c_0 > 0$ such that for all $n \in \mathbb{N}$,*

$$\min_{A \in \mathcal{A}_n} \psi_h(A) \geq c_0.$$

3. A STRONG VERSION OF THE GENERALIZED ROSENTHAL INEQUALITY

In this section, we apply the above results to derive lower estimates for distributions of independent functions defined on $[0, 1]$ (equivalently, on a probabilistic space). These can be viewed as a strong probabilistic version of the generalized Rosenthal inequality (5). Let us recall that the disjoint sum $F(t)$ corresponding to a sequence $\{f_k\}_{k=1}^n$ of functions measurable on $[0, 1]$ is defined as in (1). As above,

$(f_j^\#(t))_{j=1}^n$ is the non-increasing rearrangement of the vector $(f_j^\#(t))_{j=1}^n$ for every fixed $t \in [0, 1]$.

Theorem 2. *Let $n \in \mathbb{N}$ and $\{f_k\}_{k=1}^n$ be an arbitrary sequence of non-negative independent random functions defined on $[0, 1]$. Then there exist universal constants $h \in \mathbb{N}$ and $c_0 > 0$ such that*

$$(16) \quad m\left\{t \in [0, 1] : f_j^\#(t) \geq F^*(hj - h + 1), \quad j = 1, 2, \dots, [(n + h - 1)/h]\right\} \geq c_0.$$

Proof. Without loss of generality, we may assume that $m\{t \in [0, 1] : f_i(t) = \tau\} = 0$ for any $i = 1, 2, \dots, n$ and $\tau \in \mathbb{R}$. Therefore, setting $\tau_0 := \infty$, we can choose inductively reals $\tau_1 > \tau_2 > \dots > \tau_n \geq 0$ as follows: if $k \in \{1, 2, \dots, n\}$ and if τ_{k-1} is already defined, then

$$(17) \quad \tau_k := \max \left\{ \tau \in [0, \tau_{k-1}] : \sum_{i=1}^n m\{t \in [0, 1] : \tau \leq f_i(t) < \tau_{k-1}\} = 1 \right\}.$$

If

$$a_{i,j} := m\{t \in [0, 1] : \tau_j \leq f_i(t) < \tau_{j-1}\} \quad (i, j = 1, 2, \dots, n),$$

then $a_{i,j} \geq 0$ and from (17) it follows that $\sum_{i=1}^n a_{i,j} = 1$ ($j = 1, 2, \dots, n$). Moreover, since $f_i \geq 0$, we obtain

$$\sum_{j=1}^n a_{i,j} = \sum_{j=1}^n m\{t \in [0, 1] : \tau_j \leq f_i(t) < \tau_{j-1}\} = 1 \quad (i = 1, 2, \dots, n).$$

Thus, $(a_{i,j})_{i,j=1}^n$ is a doubly stochastic matrix.

Next, by (2) and (17), for every $\tau \in (\tau_k, \tau_{k-1})$ we have that

$$\begin{aligned} m\{t > 0 : |F(t)| > \tau\} &= \sum_{j=1}^{k-1} \sum_{i=1}^n m\{t \in [0, 1] : \tau_j \leq f_i(t) < \tau_{j-1}\} \\ &\quad + \sum_{i=1}^n m\{t \in [0, 1] : \tau < f_i(t) < \tau_{k-1}\} < k, \end{aligned}$$

whence from the definition of the non-increasing rearrangement of a measurable function it follows that

$$(18) \quad F^*(k) \leq \tau_k \quad (k = 1, 2, \dots, n).$$

Now, define the following sequence of step functions:

$$g_i(t) := \sum_{j=1}^n \tau_j \chi_{\{\tau_j \leq f_i(t) < \tau_{j-1}\}}(t) \quad (i = 1, 2, \dots, n).$$

These functions are independent, $m\{t \in [0, 1] : g_i(t) = \tau_j\} = a_{i,j}$ ($i, j = 1, 2, \dots, n$), and for all $t \in [0, 1]$,

$$(19) \quad g_i(t) \leq f_i(t) \quad (i = 1, 2, \dots, n).$$

Finally, applying Theorem 1 to the sequence $\{g_i\}_{i=1}^n$ and using (18) and (19), we obtain that

$$\begin{aligned} &m\left\{t \in [0, 1] : f_j^\#(t) \geq F^*(hj - h + 1), \quad j = 1, 2, \dots, [(n + h - 1)/h]\right\} \\ &\geq m\left\{t \in [0, 1] : g_j^\#(t) \geq \tau_{hj-h+1}, \quad j = 1, 2, \dots, [(n + h - 1)/h]\right\} \geq c_0. \end{aligned}$$

□

From the last theorem, we are able to deduce the following extension of the lower estimates obtained earlier by Montgomery-Smith [8, Theorem 1] and Junge [9, Theorem 0.2] to the quasi-normed case.

Corollary 2. *Suppose X is a quasi-normed function r.i. space on $[0, 1]$, E is a quasi-normed symmetric sequence space, and $\{e_k\}_{k=1}^\infty$ is the standard basis in E . Then there exists a constant $D_{X,E} > 0$ such that inequality (5) holds for any $n \in \mathbb{N}$ and any arbitrary sequence of non-negative independent functions $\{f_k\}_{k=1}^n \subset X$.*

Proof. Let $h \in \mathbb{N}$ and $c_0 > 0$ be universal constants from Theorem 2. Denote

$$A := \left\{ t \in [0, 1] : \left\| \sum_{k=1}^n f_k e_k \right\|_E \geq \left\| \sum_{k=1}^{[(n+h-1)/h]} F^*(hk - h + 1) e_k \right\|_E \right\}.$$

Since E is a symmetric space, then from Theorem 2 it follows that $m(A) \geq c_0 > 0$. Moreover, taking into account that the function F^* decreases, we obtain

$$\begin{aligned} \left\| \sum_{k=1}^n F^*(k) e_k \right\|_E &\leq \left\| \sum_{k=1}^h \sum_{j=1}^{[(n+h-1)/h]} F^*(hj - h + k) e_{hj-h+k} \right\|_E \\ &\leq hL^{\log_2 h+1} \left\| \sum_{j=1}^{[(n+h-1)/h]} F^*(hj - h + 1) e_j \right\|_E, \end{aligned}$$

where L is the constant from the triangle inequality for the quasi-norm of the space E . Therefore,

$$\left\| \left\| \sum_{k=1}^n f_k e_k \right\|_E \right\|_X \geq \left\| \left\| \sum_{k=1}^n f_k e_k \right\|_E \cdot \chi_A \right\|_X \geq h^{-1} L^{-\log_2 h-1} \left\| \sum_{k=1}^n F^*(k) e_k \right\|_E \cdot \|\chi_A\|_X,$$

which gives inequality (5) with the constant $D_{X,E} := hL^{\log_2 h+1} \|\chi_A\|_X^{-1}$. $\square$

REFERENCES

- [1] W. Johnson and G. Schechtman, *Sums of independent random variables in rearrangement invariant function spaces*, Ann. Probab. **17** (1989), 789–808. MR985390 (90h:60045)
- [2] H.P. Rosenthal, *On the subspaces of L_p ($p > 2$) spanned by sequences of independent random variables*, Israel J. Math. **8** (1970), 273–303. MR0271721 (42:6602)
- [3] S.V. Astashkin and F.A. Sukochev, *Series of independent random variables in rearrangement invariant spaces: an operator approach*, Israel J. Math. **145** (2005), 125–156. MR2154724 (2006d:60012)
- [4] S. V. Astashkin and F. A. Sukochev, *Comparison of the sums of independent and disjoint functions in symmetric spaces*, Mat. Zametki, **76**:4 (2004), 483–489 (in Russian); English transl. in Math. Notes, **76**:4 (2004), 449–454. MR2112064 (2005g:46060)
- [5] S. V. Astashkin and F. A. Sukochev, *Series of independent mean zero random variables in rearrangement-invariant spaces having the Kruglov property*, Zapiski Nauchn. Semin. POMI. Issled. po Lin. Oper. i Teor. Funkts., **345** (2007), 25–50 (in Russian); English transl. in J. Math. Sci., **148** (2008), 795–809. MR2432174 (2010j:60103)
- [6] P. Hitczenko and S. Montgomery-Smith, *Measuring the magnitude of sums of independent random variables*, Ann. Probab., **29** (2001), 447–466. MR1825159 (2002b:60077)
- [7] E. M. Nikisin, *Resonance theorems and superlinear operators*, Uspekhi Mat. Nauk, **25**:6 (1970), 129–191 (in Russian); English transl. in Russian Mathematical Surveys, **25**:6 (1970), 125–187. MR0296584 (45:5643)
- [8] S. Montgomery-Smith, *Rearrangement invariant norms of symmetric sequence norms of independent sequences of random variables*, Israel J. Math., **131** (2002), 51–60. MR1942301 (2003m:46014)

- [9] M. Junge, *The optimal order for the p -th moment of sums of independent random variables with respect to symmetric norms and related combinatorial estimates*, Positivity, **10**:2 (2006), 201–230. MR2237498 (2007m:60123)
- [10] S. G. Krein, Yu. I. Petunin, and E. M. Semenov, *Interpolation of Linear Operators*, Nauka, Moscow, 1978 (in Russian); English transl. in Transl. Math. Monogr., 54, Amer. Math. Soc., Providence, RI, 1982. MR649411 (84j:46103)
- [11] J. Lindenstrauss and L. Tzafriri, *Classical Banach Spaces. II. Function Spaces*. Ergebnisse der Mathematic und ihrer Grenzgebiete [Results in Mathematics and Related Areas], 97. Springer-Verlag, Berlin-New York, 1979. MR540367 (81c:46001)

DEPARTMENT OF MATHEMATICS AND MECHANICS, SAMARA STATE UNIVERSITY, 1 AKADEMIK PAVLOV STR., 443011 SAMARA, RUSSIA

E-mail address: `astash@samsu.ru`

DEPARTMENT OF MATHEMATICS AND MECHANICS, SAMARA STATE UNIVERSITY, 1 AKADEMIK PAVLOV STR., 443011 SAMARA, RUSSIA

E-mail address: `ktikhomirov@yandex.ru`

Current address: Department of Mathematical and Statistical Sciences, 632 Central Academic Building, University of Alberta, Edmonton, AB, T6G 2G1 Canada

E-mail address: `ktikhomi@ualberta.ca`